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GENERAL INSTRUCTIONS TO THE EXAMINEES :

U9 U hi Wi o o0 I3 e
TEAR HERE TO OPEN THE QUESTION PAPER

1) ultenef AEuaH 374 I3 U W AT HamEa: o |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) | WY SIHaE 2 |
All the questions are compulsory.
3) Uk U9H T I & TE STR-YiEaeht | & ford |

Write the answer to each question in the given answer-book only.

Tl | ey
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4) 7 uwAl # rafier @UE g, 37 At o ST Uk A1y @ o |

For questions having more than one part, the answers to those parts are to be
written together in continuity.

5) uya uA o E 9 sl wuwr | foRedt TR @ g / o / fomenu® gn R R W
94 Rl T AH |

If there is any error / difference / contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

6) U N IW @A | gd U9 i ATk Havd ot

Write down the serial number of the question before attempting it.
7) U9 SHHTeh 26 @ 27 WM w1l @ G @ 3R Uedeh 25 30k 2 |

Question Nos. 26 and 27 is related to map-work each carrying 2%2 marks.
8) WIRA % I A MU T — WA T IW — YReeht & Ty Teeft |

Attach given outline map of India with the answer - book.
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1) wgaEATHS T4 ¢

Multiple choice questions :

i) =¥ | F o1 uE TER o S SR ST gt g — [1]
HA) g TE I ) T wuS ST
|) i« fFmior sam g) oA i sam

Which one of the following types of industries is called - "Basic Industry"
A) TIron & Steel Industry B) Cotton Textile Industry
C) Ship Building Industry D) Air Craft Industry

ii) fFrafaRaa # | Fim o frarram aged S @ wefta 22 [1]
HA) wres fafAmion q) frvateme= s
q) & - o fFmto q) Y&kl <l GOl

Which one of the following activities is related to quaternary sector.
A) Manufacturing computers  B) University teaching

C) Paper - pulp production D) Printing Books

iii) <Ig gk AW greRt STl & — [1]
) YHTEER - & AEEER ® g
F) IW STEACH HEETR & gt
|) 2RO e HEETR & e
g) I G WEEER § Eeht
The Big Trunk Route runs through
A) The Mediterranean - Indian ocean
B) The North Atlantic ocean
C) The South Atlantic ocean
D) The North Pacific ocean
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iv) fdaam - o v snfie frn s sfeai S ge snfle TR 22 [1]
) wafw a) T
q) gaEs 3) wge®

Which one of the following types of economic activities dominates in all
rural settlement?

A) Primary B) Secondary
C) Tertiary D) Quaternary

V) IS U H A | ®H O T A S ? [1]
H) ) &R
®) e 3) T
Which one of the following crops is not cultivated under dryland farming-
A) Ragi B) Jowar
C) Groundnut D) Sugarcane

vi) geeft o e R wfera Wt i @ rrestied @ - [1]
) 50 ) 60
) 71 7) 81

How much part of earth's surface is covered with water -
A) 50 B) 60

C) 71 D) 81
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vii) FrafRaa # & fora Toa # w1 o FRm R2 [1]
) ™ q) TS
w) fan 3) ey
In which one of the following states are the major oil fields located?
A) Assam B) Rajasthan
C) Bihar D) Tamilnadu
viii) WRA i ugelt e Tt e it wemae we & T - [1]
#) HeTR )
|) ] 3) "«

Where was the first modern cotton mill of India established?

A) Solapur B) Mumbai
C) Ahmedabad D) Surat
ix) g weRr gr fAftha aeeh wgend g - [1]
) o AEk a) foon a=s
W) T HEmn 3) T g
The roads constructed by central government are called -
A) Rural roads B) District roads
C) State highways D) National highways
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x) fafafRea # @ @ @ v aHa yme % SurEa T8 2 e [1]
) e fafir q) OIS i
) TTHe e g) 3TN - FUA
Which one of the following is not an approach in human geography -
A) Areal differentiation B) Quantitative revolution
C) Spatial organisation D) Exploration - description

2) fm @ f g AR

Fill in the blanks: [9]
i) omefern @ emgfem fmfae ... % TR T 2|
Australia's age - sex pyramid is shaped
i) ScauFa fEEEEd . 2w wftafera 21
High level of human development group has countries.
i) ¥ ITA 2 2
There are approaches to planning.
iv) safiwgEor............... fafyre San 21
Noise pollution is specific.
v) Feemsfeamd............... afemEt 6 g it 2

settlements in the developing countries are large in numbers.
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faftfer i F SR oE aaa d 2 :

Write answers of the following questions in a sentence.

3)

4)

5)

6)

7)

8)

for argua ufteher 1 fafyr @) [1]

Mention the method of calculating sex ratio.

T freRE Y Heheumt 3 a1 fagm @ am faRan) [1]

Write the name of the scholar who gave the concept of Human Development.

A IR % F A 2 [1]

What are the advantages of waterways.

Teldl, AELTEl doll 91g THTTEd TS9N § Tl TReag <hi THEIU JdqT3y| [1]

Mention the problems of road transport in mountainous, desert and flood prone
regions.

FUTHS WA T 8 FREl 391 W U=A a1t giHwReE HE & |fem e #ifel 1]

Explain in brief the negative impact of negative balance of payments on a country.

v IR TTEA 1 SNURYA ®E FaTEy| [1]

Mention the basic function of the world trade organisation?
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9) ¥ 2011 H AWUF & FTAR WA S HiTE TF H THA THEA 1 U aiiereh g 7[ 1]

Which state of India has the highest proportion of urban population in India
according to 2011 census?

10) wRa ® Haiiees FEE g (ST 2011) aret a1 s 9 faRau) [1]

Write the name of the state in India which has the highest density of population
(Census - 2011)

11) & - frvugere & feemm i) [1]

Discuss Neo-determinism.

12) wra spi @ ot i) 1]

Define Human Geography.

frafeRea woat & s o ufm A € -

Write the answer of the following questionsin one line -

13) S=TER T AT =TSy | [1]

What is the meaning of Birth - rate.

14) et St g ™ RSt & AW feRau | [1]

Write names of two main branches of Geography.
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15) ferermt @/ 2 [1]

What is development.

16) fifram R o g 22 [1]

What are garrisson towns.

17) 9aTE & AN — SHIfchehtal TRUTH ST o/ 8 7 [1]

What are the Socio-demographic consequences of migration.

18) WA % et de W e 2t wgxagut gt o I foRau) [Va+Yo=1]

Write Names of two important ports, located on the east coast of India.

fFrafefem woat & s @ @ = dfem ¥ §ifvwe -

Write answer s of the following questions in two - threelines -

19) wHE % Tehfdeu i SIRE iRk [2]

Explain Naturalisation of Humans.

20) e aiEds % Hes SaTst| [2]

Mention the components of population change.
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21) i e it & e frfan) [1+1=2]

Write two characteristic of urban settlements.

22) WEFR @t fiaT sam) [2]

Mention the characteristic of metropolitan cities.

23) it e i s e w3 2]

Why is the sugar industry a seasonal industry.

fFreafeftga weai & s ww B: | one ufemat @ § -

Write answer of the following questionsin six - eight lines -

24) werthes o fgdiaes nfafafern o o= i 27 [5]

Differentiate between primary and secondary activities.

25) WA & 3nfeies foremm | Tzt A gftrem 1 quia Rl [5]

Describe the role of roads in the economic development of India.
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26)

27)

11
fau v wwa o Wt At ® i g o T e S -

H) e ) g
W) SenfEen 3) T
a) g

[Vt Yot Y ot Yt = 2V
On the given outline map of the India, mark the following Iron-ore mines -
A) Ballari B) Durg
C) Bailadila D) Chikkamagaluru

E) Mayurbhan;j

fam o R % Y At @ Fe diEn e S el S -

HA) wWas q)  SEEAR
") IR 3) dleTde
q) HiedreE

[Vt Yot Yot Yot lo = 214

On the given outline map of the India, mark the following copper producer
centres -

A) Khetri B) Udaipur
C) Alwar D) Balaghat

E) Bhilwara
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